

$$\begin{array}{ccc}
 i\mathbb{L} \begin{array}{c} \triangleleft \\ m \end{array} \mathbb{C} & \xleftarrow{\text{hull}} & i\mathbb{L} \begin{array}{c} \triangleleft \\ \infty \end{array} \mathbb{C} \\
 \downarrow \text{)} \quad \downarrow \begin{array}{c} i\mathbb{L} \\ | \\ \mathcal{F} \end{array} & & \downarrow \text{)} \\
 \mathbb{C} \begin{array}{c} \triangleleft \\ m \end{array} \mathbb{L}^\# & \xleftarrow{\text{hull}} & \mathbb{C} \begin{array}{c} \triangleleft \\ \infty \end{array} \mathbb{L}^\#
 \end{array}$$

$$\underbrace{\gamma}_{\xi}^{i\mathbb{L}} \mathcal{F} = \gamma^{i\mathbb{L}} \mathcal{F}_{\xi} = \int_{dx/(2\pi)}^{\mathbb{L}} {}^{ix} \gamma \quad {}^{ix} \mathcal{F}_{\xi}$$

$${}^{ix} \mathcal{F}_{\xi} = e^{-ix|\xi}$$

$$\gamma_{\xi}^{\#} = \int_{dx/(2\pi)}^{\mathbb{L}} e^{-ix\xi} {}^{ix} \gamma = e^{|\xi} \blacktriangleright \gamma$$

$$\gamma = \underbrace{\quad}_{\#}^{\#}$$

$${}^{ix} \gamma = e^{ix\xi} \gamma_{\xi}^{\#} \int_{d\xi}^{\mathbb{L}^{\#}} = \underbrace{\quad}_{\#}^{\#}$$

$$\begin{array}{ccc}
 i\mathbb{R} \begin{array}{c} \triangleleft \\ m \end{array} \mathbb{C} & & \\
 & \searrow \text{)} \quad \downarrow \begin{array}{c} i\mathbb{L} \\ | \\ \mathcal{F} \end{array} & \\
 & & \mathbb{C} \begin{array}{c} \triangleleft \\ m \end{array} \mathbb{R}
 \end{array}$$

$$\gamma_{\gamma}^{\#} = \int_{dL/(2\pi)}^{\mathbb{R}} e^{-iL\gamma} {}^{iL} \gamma$$

$$\Gamma_{\xi}^{\#} = \int_{dx/(2\pi i)}^{i\mathbb{R}} e^{-ix\xi} \Gamma^{\#} = \int_{dx/(2\pi)}^{\mathbb{R}} e^{-ix\xi} \Gamma^{\#}$$

$$\Gamma = \int_{\#}^{\#}$$

$$e^{iL} \Gamma = \int_{d.L}^{\mathbb{R}} e^{iL.L} \Gamma^{\#} = \int_{\#}^{iL} \Gamma^{\#}$$